Algebra 2 TEST 5.1 Review
          

DO ON OWN PAPER!

I.
Solve and round to 3 decimal places when needed.  
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II.
Compound Interest.

	12.  Heather gets $8000 of financial aid every semester.  After paying her tuition, she has $4750 left that she decides to invest in an account that earns 4.5% interest compounded continuously.  What is the total amount of her investment after 6 years?  (
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	13.  When Robert graduates, his relatives give him $6000 which he decides to invest in an account that earns 5% interest compounded continuously.  After how many years will his investment be worth $10,000?  Round to the nearest tenth of a year.  (
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III.
Half-Life.

	14.  You have a 105-mg sample of Calcium-47.  It has a half-life of 113 hours.  Find the amount of Calcium-47 remaining after 75 hours.  (
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	15.  You have a 240 mg sample of Test-Taking Power.  It has a half-life of 4 minutes.  After how many minutes will the amount of Test-Taking Power remaining be 30 mg?  (
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16.  Re write with common bases  
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17.  Rewrite as a single log using  the power property  
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18.  Rewrite as a single log  using the quotient property  
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19.  Rewrite as a single log using the product property  
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20.  Graph 
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and its inverse and state domain and range of each.

Answers:
1.  –2

2.  1.544
3.  2

4.  4.837
5.  507
    6.  - 0.321

7.  30.283
8.  24576
9.  0.349
10.  5

11.  9
12.  $6222.33

13.  10.2 years

14.  66.3 mg
      15.  12 min  16. 
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 20.  D: all reals   R: y>0
20.(b)  D: x>0  R: all reals
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